®
() o e

YOUNGNAM METAL CO., LTD.

SITAXIUTALRL MTZOR| AolARE 2

IS Rt = inl Pty g <l www.yncoupling.com

>
PIPE COUPLINGS] 7|&8 nYN 7 [anl

PIPE LINE 1402 3 D558 2+8 PIPE COUPLING

@v g e @ F A @ INOBIZ

ISO‘.’_li' KCAUS #EUS A0S ZojAjoflS SfelgrlimidEels A-/IRISA JIeHMETLIIY



olzitdo= AIHZHAIZHRN)

1990 cEZHE) X S=UA0R9)

o AT Hotpt £

el 7= A1 QA IS
(612 0}z, 9= =2 =29o|
matA, Aol Ui)

% 20|= QISULRQA)
ISO 9001 Q15 =5
MNBEETIZ 9 ZATIY
45 QY FA7I9] MY

BdEE EXN 2 TS

(562%)

@ History

0| ZHE2] CE MARK 01 Si= w®w

&= S[ELX| 2E0 SSAf MZ

ALIrHStmo} At - &
etk ZAAIRY Afed ok
ZSTYA, YB TYPE) 771=

A =] (I = 4
SEIE A4 HE

og
L

SIRARIRTA R7bE
SIS AR
BITABIATHS| QMO |
QSN FS

A7 BRI S0/70f8
SoIN 3

S AFE AL

at3j|o|Alo} EETHZ QIS(SRM QAS)

=
ST AESAL QIBEE SO XIZ

O|lcH|= Q15

(S 7| S7A A

351 12274(6EH2IS512)
48 27

C|xiel 424

AE 27

T od




S S N eHEEr
= st 7124

=
ZM 20}
SiEEY, S0 AN, SIS ESEY, MMSIH, STXEM, STXAUIE] FARIZTI
7Ef A ZMNA

ro
2
oln

SMSHBIS], B105(S), 7I0IETY, ST, BIUSHRL, SYTT, FAKL SR, LSIEAZIA,
BLIIEIR|, BHNREIS, TIACKIBAL SIRSRE, BRARBAL SAtRioe B3R
SIS TS, BFESOPIA, HSEAVIA, BERUATY 9

A ogUA tRUd @eld, sdobt), RAiTE 2

PLANT =0k
LGTIXL, 2, SSAPT, BTIIM, CHOIS2IE, 2RI, 2, IR, MU AIME,
LGEY, SIRARITIA, WEZIN, SOIIN, TN |, SRZIEM , RN 2253,

o
SOIE7|HSAL EF=UTA, oh=3l0|Ht SUSH, @ 2

nx
=
e
-
H

18
g

Ad| A AIX|L|0{2! F0f
AETX HERSEMERU0 M), SIEX|HEESAL, K4 ENG, St=2etdAH| | SX1ENG,
EEOIATICEENG |, CHZIZ | | O2HENG, AAQAIX|L 02! Q|

ol 20k
e AL I FERE, QA 1} SSHA| SrEBAL SFAIE deSAL BFAIEREL,
oA Erd, SEYTEAGA, HFdrEAIgL, ST, SR AFESAL SAHET |2,

MeEdre=R 2

oll2l+=
0j, U=, 52, 55 OWA0H, R, 0|, OfT2l7} S 342l B0




23120mm X SAE

lolzly TS X

22

o

5lixd Block &%| = &THofl Al

OH

V1IN NVNONNOA Bz =i

TEUMES JISXIR (AR 0t A, UR AHQIMA HIHH)

(U AE[QI|A $45|77A : HITACHI METAL ZH0d)

\_----_,

| @ P-11 LS AxiE @ P-17 ZBAIH MxE

| OP-14USZWSIAE MHE @ P-18 DM AY HXE

I ©P-15 3% LZI(TS)AH SXE @ P-19 2 B4 USR58
| OP-l6 USBRRIARI SME @ P-20 SR WNE

i

S

A CPadune

'YOUNGNAM METAL CO.,LTD.




SRHIRI0l A=

ey

S HHEHTHH|
RO

PENS |

OllixfRietel

S84

A5k BN LA IO BAZA

ol
o !

A

I

| LRQA(Z= 20|=) 1SO 9001 &=

2L 2= E513 S5 SEMIE (19864)
+ = PIPE COUPLING 27| Z22 &= 20|= IS0 9001 QIS
« Ml REMEEE| 215 2S(871=71

| TYPE APPROVAL CERTIFICATES

(SIS 871 =71)

DNWV-GL LIOYd‘S &AB

Register

YN PIPE COUPLING

(DNV - GL) (LR)
2g/o]

| FLANGE 2 22 Ag6k= Alth= X|SEELICE
PIPE LINE 412 % m}8 82 28 PIPE COUPLINGS| 7I=

> SAQ S7[EH=. o
> BRIC| Hofoz 2| 10| HMA &t
> A 2 Hago 2 A[ZO0| He|,

> 7R 2E RA.

A e Al oke] ujer| el Urf 8L 7 & AU,

o
f

|

YNFIEE §




o132 llzly To RS vy

MODEL 5 : RCH-S P_9 MODEL 7 : RCD-S P_ 1 0

ﬂF
N
i)
=<
o
c
=z
[3)
4
>
=
=
T
>
[

NAME OF PARTS(Z2E3)

No THNA b =
1 Alo]A SUS 304 / SUS 316L
EPDM =, 370, 2%, 0|32 2| (-30Cc~+907)
o n = NBR LB 7IEF Y 7tA 0|58 2| (-20C~+707C)

SILICONE | 112 AEI9| 0|&2 2| (-50C~+2507C)
VITON T2 SIEIOKE 0| Q| (-30°C~+230C)

3 = SUS 304 / SUS 316L
4 EhE A SUS 304 / SUS 316L
5| mmus SUS 304/ SUS 316L
6| = E SUS 304/ SUS 316L
7 =g SUS 304H / 301H
8 T QIME SUS 304
9 Amow S+12 HIEAR: QAT-NBR, TRI=EPDM
10| FEEuwaE | 5US304 52 PEHHEAR)
%12 L= 25EE0| 22{=l= viols 2155 E4H0S AL,

6 CEagms
'YOUNGNAM METAL CO.,LTD.




LHE! B2t HZ H2 Technical Data

MODEL 2:GR-L
(GRIP RING — LONG)

MODEL 1:GR-S
(GRIP RING — STANDARD)

o
=
|
o
2
o)
o
L
e
o
Z
>

15A 21.7 | 21~23 M6 X 40L X 2BOLTS | 10 | 57 | 20 38| 5 [ 40 - 1 017] - 3~5 (30~50)
20A 27.0 | 26~28 M6 X 40L X 2BOLTS | 10 | 57 | 20 471 5 140 [ 20 | 0.2 ] 0.2 4~6 (40~60)
25A 34.0 | 33~35 M6 X 40L X 2BOLTS | 10 | 57 | 20 52 | 5 [ 40 | 20 | 0.25] 0.25 4~6 (40~60)
32A 2.7 | 42~44 M8 X 45l X 2BOLTS | 12 | 57 | 20 64 | 5 |40 | 20 [ 0.3 ]0.3 2 (100~120)
40A 48.6 | 47~49 M8 X 46l X 2BOLTS | 12 | 567 | 22 68 | 5 | 40 | 20 | 0.40| 0.40 10~1 2 (100~120)
50A 60.5 | 59~62 | MIOX 65LX2BOLTS | 16 | 80 | 30 84| 10 | 36 [ 18 | 0.85] 0.85 5"'18 (150~180)
65A 76.3 | 75~78 | MI0OX 65L x2BOLTS | 16 | 80 | 30 | 101 [ 10 | 36 | 18 | 0.90| 0.90 8 (150~180)
80A 89.1 88~02 | Mi2x 75L x2BOLTS | 18 | 108 | 50 [ 117 | 16 | 32 [ 16 [ 1.6 | 1.6 0~50 (400~500)
100A | 114.3 | 113~117] MI2X 75L x2BOLTS | 18 | 108 | 50 | 142 | 156 | 32 | 16 | 1.75] 1.7 40~50 (400~500)
125A | 139.8 | 138~142| Mi4 X Q0L x2BOLTS | 22 | 117 [ 55 | 176 | 20 | 28 | 14 | 29 | 2.9 60~80 (600~800)
150A | 165.2 [ 163~167| Mi4x Q0L x2BOLTS | 22 | 117 [ 55 [ 201 | 20 | 28 | 14 | 3.1 | 3.1 60~80 (600~800)
200A | 216.3 [214~219] MI6 X 120L x 2BOLTS | 30 | 155 | 72 | 256 | 20 | 24 | 12 [ 6.5 [10.0 120~150 (1200~1500)
250A | 267.4 | 265~270| M16x 120L x2BOLTS | 30 | 156 | 65 [ 300 | 26 | 20 | 10 [ 7.6 [11.0 120~150 (1200~1500)
300A | 318.5 |316~321| M18X130L X 2BOLTS | 32 | 155 | 656 | 350 | 26 | 14 7 1 9.7 [13.6 170~190 (1700~1900)
350A | 355.6 |353~358] M18X130LX2BOLTS | 32 | 155 | 65 | 400 | 256 | 14 7 1114 1144 170~190 (1700~1900)
GR-L

P N.m(kgf-cm)

15A | 217 | 21~23 | MBx AOLx2BOLTS | 10 | 72 | 40 | 39 | 15 | 40 0.35] - 3~5 (30~50)
J0A | 270 | 26728 | Mb6x 40LX2BOLTS | 10 | 72 | 40 | 47 [ 15 | 40 | = [ 04 | - 4~6 (40~60)
25A | 34.0 | 33~35 | M8X 45Lx3BOLTS | 12 | 100 | 55 | 51 | 15 | 40 | 20 | 0.45| 0.45 5~8 (50~80)
32A | 427 | do~ak | M8 45Lx3BOLTS | 12 | 100 | 55 | 62 | 15 | 40 | 20 | 0.55| 0.5 1o~12<1oo~ 20)
A0A | 486 | 47~49 | MBX 45Lx3BOLTS | 12 | 100 | 55 | 66 | 15 | 40 | 20 | 0.6 | 06 2 (100~120)
50A | 605 | 59~62 | MIOX B5Lx3BOLTS | 16 | 139 | 84 | 81 | 20 | 36 | 18 [ 13 [ 13 15~18(150~180)
65A | 76.3 | 75~78 | MIOX 65L X 3BOLTS | 16 | 130 | 84 | 700 [ 20 | 36 | 18 | 1.4 [ 14 8 (150~180)
B0A | 89.1 | 88~92 | Mi2x 75Lx3BOLTS | 18 | 203 | 122 | 115 | 25 | 32 | 16 | 2.9 [ 2.9 o~5o (400~500)
T00A | T14.3 | 113~117] MI2X 75L X 3BOLTS | 18 | 203 | 122 | 144 | 25 | 32 | 16 | 3.2 | 3.2 40~50 (400~500)
125A | 130.8 | 138~142| M14x Q0L X 3BOLTS | 22 | 204 | 128 | 175 | 30 | 28 | 14 | 4.8 | 48 60~80 (600~800)
150A | 1652 | 163~167 | MT4 X Q0L X 3BOLTS | 22 | 204 | 128 [ 196 | 30 | 28 | 14 | 5.2 | 5.2 60~80 (600~800)
J00A | 216.3 | 214~219| Mi6 X 120L X 3BOLTS | 30 | 255 | 157 | 260 | 35 | 24 | 12 [11.0 |16.2 | 120~150 (1200~1500)
250A | 267.4 | 265~270 | M6 X 120L X 3BOLTS | 30 | 255 | 157 | 300 | 35 | 20 | 10 [12.3 |18.4 | 120~150 (1200~1500)
300A | 318.5 | 316~321 | MI8 x 140L X 3B0LTS | 32 | 256 | 157 | 350 | 35 | 14 | 7 [14.9 213 | 170~190 (1700~1900)
N.D : S24(A) 0 EYHSE H2(m/m) D1 : OjO|=9| AQIZ(m/m)
T 7122 AOIAS FH(m/m) D2 :m0|=Zo| &4 | 512K|(m/m) U 71229 2&(m/m)
M XQU=EE0| 3719 Z0((m/m) W.P @ A8 (kgf/cm?) oA : XZ=0 2ZA(m/m)
W/T - 170 2Al(kg) L 7229 Z(m/m) W AXA D= 7F 714
P 22 AY E—L3X|N-mkgf-cm) X% S SAS Aot0] AR | HAE 4 QIELICH

YNFEEY T




ot Hij2t 54 ME Technical Data
MULTI-FLEX COUPLING

MODEL 3 : MF-RS
(MULTI-FLEX — ROUND
STANDARD)

MODEL 4 : MF-RL
(MULTI-FLEX — ROUND LONG)

% PIPE 0.D AlI2 BE 7240| 7153,
P N.m(kgf-cm)

MF-RS(15A~3,000A) M%7t

D M

rx
rA
=)
TS
Ji
i
>

o (RANGE) C

lon 21.7 | 21~23 M6 X 40L X 2BOLTS 20 | 041 . 3~5 (30~50)

= 27.0 | 26~28 M6 X 40L X 2BOLTS 20 102102 3~5 (30~50)

?H. 25A 34.0 | 33~35 M6 X 40L X 2BOLTS | 10 | 57 | 32 51 | 15 [ 40 | 20 | 0.2 | 0.2 3~5 (30~50)

ol 32A 2.7 | 42~44 M8 X 45L X 2BOLTS | 12 | 57 | 32 62 | 15 | 40 | 20 | 0.3 ] 0.3 5~8 (50~80)
fir 40A 48.6 | 47~49 M8 X 46l X 2BOLTS | 12 | 57 | 32 66 | 15 | 40 | 20 | 04 | 0.4 5~8 (50~80)

il 50A 60.5 | 59~62 | MI0OX 65L x2BOLTS | 16 | 80 | 46 8112 [ 36 [18 | 0.7 ]0.7 10~12 (100~120)
2 65A 76.3 | 75~78 | MIOX 65L x2BOLTS | 16 | 80 | 46 | 100 | 20 | 36 | 18 | 0.8 | 0.8 10~12 (100~120)
é 80A 89.1 88~02 | Mi2x 75L x2BOLTS | 18 | 107 | 65 [ 115 | 26 | 32 | 16 [ 1.6 | 1.5 20~30 (200~300)
c 100A | 114.3 | 113~117] MI2X 75L x2BOLTS | 18 | 107 | 65 | 144 | 26 | 32 | 16 | 1.65] 1.65 20~30 (200~300)
Z 125A | 139.8 |138~142| Mi4x QOLx2BOLTS | 22 [ 117 | 71 [ 175 | 30 | 28 | 14 [ 2.6 | 2.6 40~50 (400~500)
() 150A | 165.2 [ 163~167| Mi4x 90L x2BOLTS | 22 [ 117 [ 71 | 196 | 30 | 28 | 14 [ 29 | 2.9 40~50 (400~500)
JZ> 200A | 216.3 [214~219] MI16 X 120L x 2BOLTS | 30 | 155 | 80 | 260 | 40 | 24 | 12 [ 64 | 6.4 60~80 (600~800)
= 250A | 267.4 | 265~270| M16x 120L x2BOLTS | 30 | 155 | 80 [ 300 | 40 | 24 | 12 [ 6.9 | 6.9 60~80 (600~800)
= 300A | 318.5 |316~321| M18 X 130L x2BOLTS | 32 | 155 | 80 | 350 | 40 | 20 | 10 | 8.7 | 8.7 80~120 (800~1200)
m 350A | 355.6 |353~358| M18X 130LX2BOLTS | 32 | 155 | 80 [ 400 [ 40 | 20 | 10 | 9.5 | 9.5 80~120 (800~1200)
; 400A | 406.4 |403~408| M18x 140L X 2BOLTS | 32 | 155 | 94 [ 450 | 45 | 16 - [10.8 | - 80~120 (800~1200)
- 450A | 457.2 | 455~461 | M18 X 140L X 2BOLTS | 32 | 155 | 94 [ 500 | 45 | 16 - 18] - 80~120 (800~1200)

500A | 508.0 |505~512] M18 X 140L X 2BOLTS | 32 | 155 | 94 [ 550 | 45 | 14 - [126 ] - 120~150 (1200~1500)

P N.m(kgf-cm)

15A | 21.7 | 21~23 | M6x 40LX2BOLTS | 10 | 72 | 4 | 37 | 20 | 40 | - | 0.35 - 3~5 (30~50

20A | 27.0 | 2628 | M6x 40LX2BOLTS | 10 | 72 | 46| 46| 20 | 40 | - | 0.4 | - 35 (30~50)

25A | 340 | 33~3 | MBx 45Lx3BOLTS | 12 | 100 | 64 | 51 | 30 | 40 | 20 | 0.45] 0.45 4~6 (40~60)

3A | 4p7 | Ao~AA | MBX 450x3BOLTS | 12 | 100 | 64 | 62| 30 | 40 | 20 | 05 [ 05 5~8 (50~80)

40A | 4856 | 47~49 | MBx 450X 3BOLTS | 12 | 100 | 64 | 66 | 30 | 40 | 20 | 0.55] 0.5 5~8 (50~80)

50A | 605 | 50~62 | Mi0X 65Lx3BOLTS | 16 | 139 | 99 | 81 | 45 | 36 | 18 | 1.2 | 1.2 | 10~12 (100~120)
65A | 76.3 | 75~78 | M10X 650 x 3B0LTS | 16 | 139 | 99 | 100 | 45 | 36 | 18 | 1.3 [ 1.3 | _ 10~12 (100~120)
80A | 9.1 | 88~92 | Mi2x 80L X 3BOLTS | 18 | 203 | 146 | 115 | 60 | 32 | 16 | 2.6 | 2.6 |  20~30 (200~300)
100A | 114.3 [113~117] MT2x 80Lx 3B0LTS | 18 | 203 | 146 | 144 | 60 | 32 | 16 | 3.0 | 3.0 |  20~30 (200~300)
125A | 139.8 | 138~142| M14x 90L x 380LTS | 22 | 204 | 138 | 175 | 60 | 28 | 14 | 4.8 | 4.8 |  40~50 (400~500)
150A | 165.2 | 163~167| M14x 90L x 380LTS | 22 | 204 | 133 | 196 | 60 | 28 | 14 | 5.4 | 5.4 |  40~50 (400~500)
200A | 216.3 | 214~219| MI6 X 1200 X 380LTS | 30 | 255 | 177 | 260 | 80 | 24 | 12 | 7.0 | 7.0 | 60~80 (600~800)
250A | 267.4 | 265~270| M6 X 1200 X 380LTS | 30 | 255 | 177 | 300 | 80 | 24 | 12 [11.7 [11.7 | _ 60~80 (600~800)
300A | 318.5 | 316~321 | MI8X 1400 x 380LTS | 32 | 255 | 177 | 350 | 80 | 20 | 10 [16 [15.0 | 80~120 (800~1200)
350A | 355.6 | 353368 | MI8x 1400 x 380LTS | 32 | 255 | 170 | 400 | 80 | 20 | 10 [16.4 [16.4 | 80~120 (800~1200)
400A | 406.4 | 403~408| M8 X 1400 X 3BOLTS | 32 | 255 | 170 | 450 | 80 | 16 | - [18.6 80~120 (800~1200)
450A | 457.2 | 455~461 | MI8 X 1400 X 380LTS | 32 | 255 [ 170 [ 500 | 80 | 16 | — [20.4 | - | 80~120 (800~1200)
500A | 508.0 | 5057612 Mi8X 1400 X 380LTS | 32 | 255 | 170 | 550 | 80 | 14 | — [21.6 120~150 (1200~ 1500]
N.D : SEAA) 0 R EYSE AHEm/m) D1 : TO[=O| A2[A(m/m)
T 72 APIAS FAlm/m) D2 : mol=o| ZiA Z| 51EX|(m/m) U 7B 2l Em/m)
M ZYUZEQ 3719 Z0|(m/m) W.P : &8&2(kgf/cm?) oA : EHZ32 ZEm/m)
W/T = 1785 FAlkg) L 7EEY=(m/m) W dXA oz 2k 7k
P &8 M8 E—23X|N-mlkgf-cm) X S SIS PIGI0 Al0| HEE 4= UELIC

8 OEggus
'YOUNGNAM METAL CO.,LTD.




ZEM

I..n_

£ 24182 Technical Data

REPAIR CLAMP HINGE COUPLING

‘i—
iz o=

THEAT|PLMSHZTI0| 25t HE'0f| 2|7 K-water BT
Test-bedoliN2] 2xigt 45UZE 7H duBRYLME L2 HF

MODEL 5: RCH-S
(REPAIR CLAMP HINGE — STANDARD)

RCH-S (15A~3,000A) X %715

L

” MODEL 6 : RCH-L

(REPAIR CLAMP HINGE — LONG)
% PIPE 0.D Al BE 20| 7453t

N.D D1(0.D) . W . P N.m(kgf-cm)
15A 21.7 21~23 M6 X 40L x 2BOLTS 10 57 | 34 46 1 18 0.2 3~5 (30~50)
20A 27.0 26~28 M6 X 40L x 2BOLTS 10 57 | 32 46 1 18 0.2 3~5 (30~50)
25A 34.0 33~35 M6 X 40L X 2BOLTS 10 57 | 32 51 1 18 0.25 3~5 (30~50)
32A 42.7 42~44 M8 X 50L X 2BOLTS 12 57 32 62 1.5 ] 18 0.35 4~6 (40~60)
40A 48.6 47~49 M8 x_50L x 2BOLTS 12 57 | 32 66 15| 18 0.35 4~6 (40~60)
50A 60.5 59~62 M10 X 65L X 2BOLTS 16 80 | 46 81 2 16 0.8 8~10 (80~100)
65A 76.3 75~78 M10 X 65L x 2BOLTS 16 80 | 46 | 100 2 16 0.86 8~10 (80~100)
80A 89.1 88~92 M12 X 80L x 2BOLTS 18 | 107 | 65 | 115 3 14 1.6 20~25 (200~250)
100A | 114.3 | 113~117 M12 X 80L x 2BOLTS 18 | 107 | 65 | 144 3 14 1.7 20~25 (200~250)
125A 139.8 | 138~142 M14 X 95L X 2BOLTS 22 117 71 175 4 12 2.9 30~35 (300~350)
150A | 165.2 | 163~167 M14 X 95L x 2BOLTS 22 17 | M 196 4 12 3.3 30~35 (300~350)
200A | 216.3 | 214~219 M16 X 130L X 2BOLTS 30 155 | 80 | 260 5 10 6.7 40~50 (400~500)
250A | 267.4 | 265~270 M16 X 130L x 2BOLTS 30 155 | 80 | 300 5 10 7.5 40~50 (400~500)
300A | 318.5 | 316~321 M18 X 140L x 2BOLTS 32 155 | 80 | 350 5 10 9.0 60~80 (600~800)
350A | 355.6 | 353~358 M18 x 140L x 2BOLTS 32 155 | 80 | 400 6 10 [10.4 60~80 (600~800)
400A | 406.4 | 403~408 M18 X 140L x 2BOLTS 32 155 | 94 | 450 6 10 [ 11.0 | 80~100 (800~1000)
450A | 457.2 | 455~461 M18 X 150L X 2BOLTS 32 155 | 94 | 500 6 10 [ 12.8 | 80~100 (800~1000)
500A | 508.0 | 505~512 M18 X 150L X 2BOLTS 32 155 | 94 | 550 6 10 [13.6 | 100~120 (1000~1200)
RCH-L
N.D D1(0.D) . W . W.T P N.m(kgf-cm)
15A 21.7 21~23 M6 X 40L X 2BOLTS 10 72 46 46 1 18 0.35 3~5 (30~50)
20A 27.0 26~28 M6 X 40L X 2BOLTS 10 72 46 46 1 18 0.4 3~5 (30~50)
25A 34.0 33~35 M8 X 50L X 3BOLTS 12 100 64 51 1 18 0.5 3~5 (30~50)
32A 42.7 42~44 M8 X 50L X 3BOLTS 12 100 64 62 1.5] 18 0.6 4~6 (40~60)
40A 48.6 47~49 M8 X 50L X 3BOLTS 12 100 64 66 1.5 ] 18 0.65 4~6 (40~60)
50A 60.5 59~62 M10 X 65L X 3BOLTS 16 139 99 81 2 16 1.4 8~10 (80~100)
65A 76.3 75~78 M10 X 65L X 3BOLTS 16 139 99 | 100 2 16 1.5 0 (80~100)
80A 89.1 88~92 M12 X 80L X 3BOLTS 18 | 203 | 146 | 115 3 14 3.0 20~25 (200~250)
100A | 114.3 | 113~117 M12 X 80L x 3BOLTS 18 | 203 [ 146 | 144 | 3 14 3.3 20~25 (200~250)
1256A | 139.8 | 138~142 M14 X 95L X 3BOLTS 22 | 204 | 138 | 175 4 12 5.1 30~35 (300~350)
150A [ 165.2 [ 163~167 M14 x 95L x 3BOLTS 22 | 204 | 138 | 196 4 12 5.7 30~35 (300~350)
200A | 216.3 | 214~219 M16 X 130L X 3BOLTS 30 | 255 | 177 | 260 5 10 [ 11.8 40~50 (400~500)
250A | 267.4 | 265~270 M16 X 130L X 3BOLTS 30 | 255 [ 177 | 300 5 10 | 131 40~50 (400~500)
300A | 318.5 | 316~321 M18 X 140L x 3BOLTS 32 | 255 | 177 | 350 6 10 1135 60~80 (600~800)
350A | 355.6 | 353~358 M18 X 140L X 3BOLTS 32 | 255 | 170 | 400 6 10 |18.2 60~80 (600~800)
400A | 406.4 | 403~408 M18 x 140L x 3BOLTS 32 | 255 | 170 | 450 6 10 ]19.6 | 80~100 (800~1000)
450A 457.2 | 455~461 M18 X 150L X 3BOLTS 32 255 | 170 500 6 10 [ 21.0 80~100 (800~1000)
500A | 508.0 | 505~512 M18 X 150L X 3BOLTS 32 | 255 [ 170 | 550 6 10 ] 23.0 [ 100~120 (1000~1200)
N.D : SN D45 B SR Rlm/m) D1 mofmo| Alofz{m/m)
T 7153 AOIAS FH(m/m) D2 :Imo[Zo| z|A |0 S18X|(m/m) U 71539 2/&(m/m)
M E‘%!%EOI 3712t Z0(m/m) W.P @ &8 kgf/cm) oA : EF89 2E(m/m)
W/T : 171 27(kg) L 71200 Zm/m) W AW Tojm 7+ 74
P EEHYE—R3XIN-mkgf-cm) ¢S :Z@FW X 2 AZ 2ot AlN0| HEE o UELIC

YNFIEE §

YN PIPE COUPLING



At - 5l22le = S48 Technical Data

MODEL 7 : RCD-S
(REPAIR CLAMP DOUBLE
LOCK — STANDARD)

MODEL8:RCD-L
(REPAIR CLAMP DOUBLE LOCK — LONG)

rx
rA
~N
g
B RCD-S(20A~3,000A) HIZ}7ks * PIPE 0.D NRI2 2E 72017158
> N.D D1(0.D) . W W.T P N.m(kgf-cm)
% 20A 27.0 | 26~28 M6 X 40L X 4BOLTS 10 57 | R 46 1 0.3 3~5 (30~50
@ 25A 34.0 33~35 M6 X 40L X 4BOLTS 10 57 32 51 1 0.3 3~5 (30~50)
o 32A 2.7 | 42~a4 M8 X 45L X 4BOLTS 12 57 | 3 62 1.5 0.5 5~10 (50~100)
ol 40A 48.6 47~49 M8 X 45L X 4BOLTS 12 57 32 66 1.5 0.6 5~10 (50~100)
i 50A 60.5 | 59~62 M10 X 55L X 4BOLTS 16 80 | 46 81 2 1.1 10~15 (100~150)
ﬁ 65A 76.3 | 75~78 M10 X 55L X 4BOLTS 16 80 [ 46 [ 100 2 1.2 10~15 (100~150)
=< 80A 89.1 88~92 M12 X 65L X 4BOLTS 18 | 107 | 65 [ 115 3 2.1 20~30 (200~300)
o 100A | 114.3 | 113~117 M12 X 65L X 4BOLTS 18 | 107 | 65 | 144 3 2.3 20~30 (200~300)
C 125A 139.8 | 138~142 M14 X 80L X 4BOLTS 22 117 lil 175 4 3.6 40~50 (400~500)
=z 150A | 165.2 | 163~167 M14 X 80L X 4BOLTS 2 [ 17 [ 7 196 4 3.9 40~50 (400~500)
2 200A | 216.3 | 214~219 M16 x 100L X 4BOLTS 30 | 155 | 80 | 260 5 8.7 60~80 (600~800)
> 250A | 267.4 | 265~270 M16 X 100L X 4BOLTS 30 [ 155 [ 80 [ 300 5 9.4 60~80 (600~800)
= 300A | 318.5 | 316~321 M18 X 120L X 4BOLTS 32 [ 155 [ 80 [ 350 5 11.9 | 80~120 (800~1200)
= 350A | 355.6 | 353~358 M18 X 120L X 4BOLTS 32 | 155 [ 80 | 400 6 12.4 [ 80~120 (800~1200)
m 400A | 406.4 | 403~408 M18 X 120L X 4BOLTS 32 [ 155 [ 94 [ 450 6 14.3 | 80~120 (800~1200)
;' 450A | 457.2 | 455~461 M18 X 130L X 4BOLTS 32 [ 155 [ 94 [ 500 6 14.8 | 80~120 (800~1200)
[ 500A [ 508.0 | 505~512 M18 X 130L X 4BOLTS 32 [ 155 [ 94 [ 550 6 15.9 [ 120~150 (1200~1500)
RCD-L
W W.T P N.m(kgf-cm)
25A 340 | 33~35 M8 X 451 X 6BOLTS 12 | 100 | 64 51 1 0.7 3N5 (30~50)
32A 427 | 42~44 M8 X 451 X 6BOLTS 12 [ 100 | 64 62 1.5 0.8 0 (50~100)
40A 48,6 | 47~49 M8 X 451 X 6BOLTS 12 | 100 | 64 66 1.5 0.85 5~10 (50~101)
50A 60.5 | 59~62 M10 x_55L X BBOLTS 16 [ 139 [ 99 81 2 1.8 10~15 (100~150)
65A 76.3 75~78 M10 X 55L X 6BOLTS 16 [ 139 [ 99 [ 100 2 1.9 10~15 (100~150)
80A 89.1 88~92 M12 X 65L X 6BOLTS 18 | 203 | 146 | 115 3 3.9 20~30 (200~300)
100A | 114.3 | 113~117 M12 X 65L X 6BOLTS 18 | 203 | 146 | 144 3 4.3 20~30 (200~300)
125A | 139.8 | 138~142 Mi4 X 80L x 6BOLTS 22 | 204 | 138 | 175 4 6.5 40~50 (400~500)
150A | 165.2 | 163~167 Mi4 X 80L x 6BOLTS 22 | 204 | 138 | 196 4 71 40~50 (400~500)
200A | 216.3 | 214~219 M16 x 100L x 6BOLTS 30 [ 255 | 177 | 260 5 12 [15.3 60~80 (600~800)
250A | 267.4 | 265~270 M16 x 100L X 6BOLTS 30 | 255 | 177 | 300 5 12 116.3 60~80 (600~800)
300A | 318.5 | 316~321 M18 x 120L x 6BOLTS 32 | 255 | 177 | 350 6 10 [20.1 80~120 (800~1200)
350A | 355.6 | 353~358 M18 x 120L X 6BOLTS 32 [ 255 | 170 | 400 6 10 [22.9 [ 80~120 (800~1200)
400A | 406.4 | 403~408 M18 X 120L X 6BOLTS 32 | 255 | 170 | 450 6 10 [24.0 | 80~120 (800~1200)
450A | 457.2 | 455~461 M18 x 130L X 6BOLTS 32 | 255 | 170 | 500 6 10 [25.8 | 80~120 (800~1200)
500A | 508.0 | 505~512 M18 X 130L X 6BOLTS 32 | 255 | 170 | 550 6 101265 | 120~150 (1200~1500)
N.D : S2EA) 0 2EYESE H2(m/m) D1 : IO|=O| HofA(m/m)
T 7152 A0IAL FH(m/m) D2 :IO[Zo| ZA Z[CH SEX|(m/m) U 71589 2&m/m)
M ZUZE| 3719 Z0|(m/m) W.P : 4822 (kgf/cm?) oA : HZ82 2E(m/m)
WT : 1742 SAlkg) L 70 Ey/m) W ARIA| | 7F 71
P &3 XY E—23X N-mkgf-cm) X S SIS 510 AL0| HAE 4= UELICH

10 @) S

'YOUNGNAM METAL CO.,LTD.




7|&XIE2D

LHSIAE! M

A|SidHH - OJ2FA (1aCS) Req.2001 / Rev.3 2012

LHS () Al GRPS |MULTIE | o[22 &7 etzioz 80°COolAe| 20| 2&H|T U= AtEHOfIA] 7|AAl
e 0|2 =ZIXIS 800°C2| 2E0A 302 SOt 510l L SA|ZICH
FIRETEST = =M= T O = E_|_ o
H2 2 (10| AIHE S| MIT2 3HL) ojuff t=A0| Qio{oF &2,

>1_-PH 1ISO 19922 » Al :

[

0 "
I
-
-
-

k
i
i

4 800T Oldez 3R E FAIS2| =2 ME

FREERRE

o
=
|
o
2
o)
o
L
e
o
Z
>

LS SHRHolls Fi5] SHP} St
Liskd 20[S24]
ETEIES ™I

H
0.D

0 SO I S

AN 22| LIETE, 210 TS XIE0| = 2 HiE

FPC GR-S
(0. . P N.m(kgf-cm)
27.0 40L X 2BOLTS . 5~8
25A 34.0 M6 X 40L X 2BOLTS 12 68 20 59 70 20 0.35 5~8
32A 42.7 M8 X 45L X 2BOLTS 12 68 20 68 81 20 0.45 10~15
40A 48.6 M8 x 451 x 2BOLTS 12 68 22 73 87 20 0.5 10~15
50A 60.5 M10 X 65L x 2BOLTS 16 94 32 92 109 18 1.0 15~20
65A 76.3 0 X 65L x 2BOLTS 6 94 30 08 24 8 1.2 15~20
80A 89.1 2 X 75L X 2BOLTS 8 22 50 30 44 6 2.1 40~50
100A 114.3 2 X 75L X 2BOLTS 8 22 50 55 71 6 2.4 40~50
125A 139.8 4 X 90L x 2BOLTS 22 38 55 82 203 4 3.8 90~100
150A 165.2 M14 x 90L x 2BOLTS 22 38 55 207 229 4 4.2 90~100
200A 216.3 M16 X 130L X 2BOLTS 30 176 72 265 297 12 11.2 120~150
250A 267.4 M16 X 130L X 2BOLTS 30 176 63 316 348 10 12.9 120~150
300A 318.5 M18 x 120L x 2BOLTS 32 176 70 367 400 7 14.9 170~190
350A 355.6 M18 X 130L X 2BOLTS 32 176 68 404 439 7 16.1 170~190
N.D : SEEA) 0 E Yo H2lm/m) D1 TOJZO| MoA(m/m) T DFEE AOIAY S Hm/m) U 7HEEY A (m/m)

M xo=Eo] 37|51P'0|(m/m) W.P : AIRi(kgf/cm?) A : E2E0| ZZ(m/m) W/T : 17 S7lkg)
L :722olZm/m) P : M2 MY E—93% N-mkgf-cm) H  : KEQ] Z0l(m/m) W.T TEZ0| 27(kg)
YN 7EEE 11




LISFE(fHA M) 7IEE MIAIACH AL MSH
FPC(Fire Protection Cover)

Li=tS 71S52l2| siel+E AN

rx
A
=]
>
1o
i
P
I
=2
oM
ra
ol
ﬂF
=
e
=<
o
Cc
Z
(2]
4
>
=
=
m
>
r

®
12082
'YOUNGNAM METAL CO., LTD.



HHHTEﬂthIE CHCTEMDI

- Mbsb:-ipmru nfo@bss-proy

fn_FPC-OR (N) 50A
e (56.0-58.0MM

ww |AIS| 304

YN PIPE COUPLING

Bemavirr' Tie PEL JUTARORNOW, NDMANWMITE & : A
TR T WACTON AN T WMWY 3y 4

| 32A-50A |

13



AJSiHHH © OJ2FA (1ACS) Req.2001 / Rev.3 2012

s s GRPE [MULTI® | 771Xl O3 ZRIM7} Q12 Mol AL 2 QU=x| HoI517| 95t

LS Al Ao 27 ot St 30~50A10132| FIk4: HS|oflA 022

PULSATION TEST | mg _ SE| M7ef2{o] 156X E0|m AO|S 4= 5025 oo
e 510 e EEi= OLAEIRV} RL=X] Eelsto] 00| giom 3,

rx = r

]

N s

Eﬂ_na i

o |y

=

lon

= / =, —

ol I

FLF Impulse Pressure Diagram (GR-S 40A)

o » R, GR-S GR-L

3 /\ — L Cycles L Cycles

= o / \ 40A 500,000 40A 500,000

2 oy \ 100A 500,000 100A 500,000

Jg> £ 200A 500,000 200A 500,000

= / x0page ©E  --mmmmmmmsmsmmomomomooooooooooooon N

m . =1 on X :

B — \ - _ . EHAL AR WS AH|
e o2 )

.
1MOegns
'YOUNGNAM METAL CO.,LTD.




Alg*, HeH }° kA (IACS) Req.2001 / Rev.3 2012
GRPE |MULTIZ | 7|74 olg0| AiZ4g! mlo|mof RIS QXI5I0] AHS AA|
SHT 37}x| Al2loll 25 S=Ao| =[] elojof 874,
LHZI(ZIS) Al Number of cycle | Amplitude, mm Frequency, Hz
VIBRATION TEST | wmg _ 3x10° +0.06 100
3x10° +05 45
3x10° +15 10

AMPLITUDE

FREQUENCY

NUMBER OF CYCLE
7|

3x10°

ZZE(mm)

FTR(E)
100
45
10

GR-S 80A ZISAIR=

FdgAel

SR 7142

Al

1,000

P Ik

LHEIAI

(z.s

Algelz]7|2t : zi= 87i=2 M
: g HIA O3

2|2l of

FIZof w2t 9002t XIS
XIS A[ZH110A|ZH

a2, 2
3 Al

1= HITACHI GROUP
[&454%t (2017, 52)

g

YN7IEE 15

o
=
|
o
2
o)
o
L
e
o
Z
>




A|gidhH - OQFA (IACS) Req.2001 / Rev.3 2012

GRPE |MULTIE | ARS 30| e & U= St 51501 Chste] 71714 0|3 =8l
H7h HAE 2t 22|E[X| H=hs RS 201617 | AUSH AA
27IX| 71510 SStoz Ch2e| Aloz AMEt SIS 7i5to]

ENE =490| /x| 2JojoF £,
PUL-OUTTEST | mg | - 1
L = T . D2 o P
Fots) (Befd) (HAR)

LOAD(TON)

0.4 40A .
100A 1.7 100A 1.7
200A 4.5 200A 4.5

[ ixiv

AlEA7 2 - SAFETY ECONOMY ENGINEERING.

= A[ZA[E T GR-S 200A
=

=
==

loizly Eok=

o
yany

o2

ﬂF
S)
e
<
[©)
c
z
@
Z
>
=
=
0
>
[

m A[&A[E D GR-L 100A

.
16 Eggns
'YOUNGNAM METAL CO.,LTD.




A (IACS) Req.2001 / Rev.3 2012

RIZA[S GRPE |MULTIE | 7PiA OIS ZRUNS T2 Hmoj AZ5HT 170nPa(ZLh)O|
= B2 5 10| QFEo] El 22 HHE AlgiEel 71714 of2
VACUMTEST | =g | =g | =zzisizSel 5250t JAEHE SXI510f 04| Siojof &2

= SEZA[E 1, AJHAH : GR-S 200A

0. 97 Kgf/cm? j

GR-S 200A ZISAIES

o
=
|
o
2
o)
o
L
e
o
Z
>

n ZIZA[E 2, AIBIA[E : MF-RL 200A
B £y

VACUUM TEST

MFE-RL 200A

YN7EER! 17




[ ixiv

=
==

loizly Eok=

o2

ﬂF
S)
e
<
[©)
c
z
@
Z
>
=
=
0
>
[

7|=XI26)

=l

1€ HEAE S5

A|&iHHH = OJFA (ACS) Req.2001 / Rev.3 2012

OIEAAA GRPE |MULTIE| 39l AIHS AASH ZEIHIE 015101 M| 22io| 4ufo| mpQf
BURST PRESSURE 20| 242! & QU=X| E0I517| ISt AIHOE 4Hie] UR0lIM A
TEST ESI=d 2 0| |X| SLojof &,

= GR-L 100A It 224 A|&IE(68kgf/cm’ RXIE)

LipRrsT PRESSURE
TEST

Rl L O~

» GRS 200A LI 22 A[RZ(50kgf/cm’ SXIE)

BURST PRESSURE
EEST

GR-S 200A

.
18 CiR e
'YOUNGNAM METAL CO.,LTD.




ZelAUIE A
REPEATES
ASSEMBLY TEST

GRPH (MULTI Y

P33 P33 geet
| o

A% B | TS HZARR

et 2 ARS 4

Xiof| w2t Zgt 2 221 108]
AISHO] 5=420] E|X|2L0f0F B,

REPEATED
ASSEMBLY TEST

GR-S 1004

—

REPEATED
ASSEMBLY TEST

GR-S 40A

REPEATED
ASSEMBLY TEST

GR-L 100A

19

o
=
|
o
2
o)
o
L
e
o
Z
>




AENER

AHIRA He| A A8 SHE
SIEtX| O& =elA MZEAIZA HAE

lolzly TS X

22

[s]

VL3N NVNONNOA Bz =ie

212t 25' X2 =5 =l HRIE 7ol &= |X
m EHAE AKX}
1. Al ET= Z[tHE3 O|LHOIA AT|O[AP} Hatz|= F27to =2 IS0 Al
2. AR oo |=of| 712EE AMZE = 37|20.2Mpa S 7o 20l =gl HY
+4 2 7[Ee| o|&o| SIS
3 Zf =& HY= 52 ot =4 2 7|Ete| 0|4 SFsiTt.

mEHAE Zn}

TFNol | Aot SeH2[Angle]
olx| 1 JVEES 2 Z 27 inl
KRR e B
2

Lm

20A-1%} Pass

2027} Pass

2 50A- 1Rt Pass

50A-27 Pass

HORE , 1001z Pass

W 100A-23t Pass

20161122 X0 20013 . i Pass

0161208 M2 2 owppx | 02 02 23 5 o
HAE

2 50A-1%t Pass

50A-23 Pass

100A-1%} Pass

AMEE 2 o0an Pass

, | 200A-1%f Pass

200A-2%t Pass

.
20 @ geme
'YOUNGNAM METAL CO.,LTD.




www.yncoupling.com  YOUNGNAM METAL

ZLE A|BiHIH
10O =f=2-
TEST DATA FOR PIPE COUPLING

MF-RL
100A

5E7HSX| | 6dkgilom? 4et Al
oNele | o oweis

MF-RS I

HEH U A=
(N.D)
15mm 43kgf/cm?
GR-S 65A 18kgf/cm? 10mm 65kgf/cm?
5mm 96kgf/cm?

YN PIPE COUPLING

»=0] : Y= KANA FLEX Group , HITACHI Group, BRISYS (CHa 3A})

Misaligned Pipes Connecting Test Report

Tested and Reported by Lee. Dongwoo / 22 Awg 2001
3 :Bmlmuﬂqm-m

a3 = 1008

GR-5 1004 [1.500r 2t}
wilh cne skde plain fing W GR-5 1004 (1.5t 0r 20)
W\ with standard grip ring

e

"___:‘-" . 4 :
EREEE ——()
i e’ '

(Dilpper Block L=1000

B. Test Result

a. GR-5 100a b, GR-5 100A
{Casa thicknass Jes ICase thickness 1,588
Torgui | B0N-m Toegqua : SON-m

Test Pressure ; 8.0
Hokdirsg Tirme @ 30emsn.
Dwlcemation : None

Remark : Remark, |
Mot bested owvar 8.0 Thea coupling case starts inflating 81 6.5
And it has loakod at T.0if

Charalily Assurance Departiment

A L=0| Ty |HO| Hofsl] HISERA|, Y=RA|, EEFX SS Al &H

YNFEEE 2




H2YA=

\ B Al :
ZiBjo| REBAH B

loizly TokESc iz

e

A 48" (1,200A) YN MF=RL FHLICH 288A ofiof2fel A FHLICEAT ofAdzt

. *-'-""“‘._ -

o
o

I.

2]

TVLIN NVNONNOA RBlz =

A SY7[HESAL 015212192460

AN} SEREErSAL A THYMEIIE] dizi2121 400A A 800A M-z EZAL

22 ;@ 2

'YOUNGNAM METAL CO.,LTD.



AlMXR www.yncoupling.com YOUNGNAM METAL

i< mo|= 2fol X

v
= S
--'_.._;r:yi.-' .

. ’.?:?_‘_.—.‘-—:r:-??: -
A Kot DO| BapgAt

PIPE COUPLING EH

)

sieageel

S SI2EMA 0.D 02860 SUAI A00ASIHHEH 4m THOIT 42| 2k

YN 7IEE 23

YN PIPE COUPLING



iXh

X

oSl

Sleie loily

=

IVLIIN NVYNONNOA Rz

H2YA=




www.yncoupling.com  YOUNGNAM METAL

YN7IEE 25

YN PIPE COUPLING



o O] Ay
o] 3 Ax|dr
OPERATING PRINCIPLE AND INSTALLATION

0] 912} 7|22 Hsts| A7 =0 Ql0Jk S45t flalz ok L Alzlol SEH tiotn 4%0| BalEin] ¢lamoiol LIPS
Offet B0 YRR B2k LISSS HO} 7IZAY = SIS 51| 20 4 gRie H) BaEc,

E£5| MODEL RL (ROUND LONG)2 M{ZZ0[7t MODEL RS (ROUND STANDARD)2| 1.6~1, 8l = ZA| MEHz|0f 01
QB0 | ZH4W)0] SIS BAV 1L AKBO| ST

(MF-RS / MF-RL TypeARSA| 25 HHZH0| TE/0f QU] SLOB B2+ LYol Q120 Olsj0 LHE! /20| t=4LIct )

o~ =W e

71 2 SE SAH HS el Hlw
Y.N COUPLING CONNECTION GUIDE

lolzly TS X

22

o

ﬂF
=l
i’}
<
o
c
P4
@
4
>
=
=
0
>
[

A TjSHA A NS 2=

-
26 e
'YOUNGNAM METAL CO,, LTD.



www.yncoupling.com  YOUNGNAM METAL

i ME=0f 3 2|

= 10O k=
PIPE COUPLINGS SITE APPLICATION

ZMAUA| XS

MULTI-FLEX, GRIP RING PIPE COUPLING 25 Firefighting line, plumbing, ballast,
Sanitary, Compressed air, Cooling water Systems, Sea water, Fresh water, Drain,
sounding, Electric cable protect, oil transfer, Fuel oil lineS 12} LineE XMQlsta= 1
AHEO| 20| HL}, Centering? WEEE M | AR HISOE!, A30| alst 7HA Lt Flange &
HECH30%01l siEoth= 7HAZ | S CiYet 7150| B-ECH £35| Long Size2| COUPLING
2 F2IZ07H 27| HZ0|| TS, 32t HHo| et 24120001 217 |Z01 xifZ0| = 0|t

7tA SEDt, XI1F HISARS] ik

7HA PIPE £2 0[5210| LTS HELHS 8HOS £i0f I0L} 0f2i3t SHUAIS ST
Slo| £7342 ST |21 Dlote] A HESTY H=o| 25} ARI0| LMEIS 1 7KAS K512 A
& S MeiD] L O] (Al 242 SIS Z20|02 0[2 Q510 LIZBHI0|LL RIS} =
2 Dicfet 5150| 23S U] ZAS WRIE 4 9l WS ZHIE Ho[ot= S Xi=5l0] S5
X[tupE0l= BE mo|mo| HEEC

ko] it

d - 2 BE2IHLPG, LNG, GAS 22lof| o 24802 ARESIEZ 1 M| USH
HE ATt £3| mo|= HHRE 715 TRE0| e ICH= AE0| 715310, 2/F0f 2ot S22
20| @i, ZnjAR =0\t S o= 11 71S0| AEX] oo 2B

r

4

rol

[ = -|
£I50| U= 7 17| ZX[Z0F2] Hifet
B o, W70l & - BE Ui, UET| JEHEY O MESo| MBS Ha| ARO| &
, £5| B0 XLl mjojmo| atsisiitloz 9 biiEo| ] 8k Tf= COUPLING
S'TIA| 206101 HA 212 5 TIEE o2 H 22T} 2|, QIS 2AS) Birt

YN PIPE COUPLING

2 PLANT

-

LTIS0ILE 27 ||, S2LY HX|Q| 7 AR 20l Lilizf= 1ETISH AZS 60% 01 &
7122 SCHALEO[LL A0 [X| SOl F2|7H ZHAELE.

r

&

=711
ME ZHZO0| CHEE| 28
QUETIO| TRI0] T3] TF2 PVCEITE AHRIARIO| 912 S2 AHR AT} 2T
Zol M25i0] 53 2lo| S24= 7|22 S5 FRIEL,

oin
2
A
e
1o
re

YN 7Y 27




5 Hi=o AlE 25

= Ma— o O

APPLICATION OF PIPE COUPLING

o TR, WITIES LY - 20| HITIIOIO) ARIARZ, T OFSTHRISIt BANOY A1%| AL

o Ndt T5l0| 7|E ZHH AN HEH Y HAROR AR U 23 50| Mdio]| B480= AI]

o MBRATE HIARH ASDH FAHR STUSAT MR BB Y PVC, FRPE SO GIZAR
o X[, 512 A2IUTIAC| SAT HISRIO| ARD

* X[5F Tx20| Mx| 2 XI5}, 2E0R0| AR

* HQTHO| SR, XBIGAS THARIO| ZA}

o SETTIHO| AH| TS, 7|E} CIY5H 2O}

oooo
o 2pHl2t = TIE(S2)0| LMEh ti2lls TESUR TS HERLIC,

&g Bi9lo] 72

~af—
rx @ —
Pl
~ -
M
i - - o~ -
o AZASOILL HS 7420 ALlQ| izt 4 S48t 77| SLRSIH 271H01 o QJEa HE| BAIMO| T4 5IZUE 50|
> 2|\ $21802 I AIR0| OFF Bolsict, 0157, FiSe oM 48 4 U Tls HEO|Z0IE LHAINO| 23t AHIRA
= 2 71x|m Qict, 304 XHE0|7|of] FAIS YR[BICH
i
ol
ﬂF
=
e
=< | |
= T O
o L —_— -
o ]
> I
= . / ]
m —
>
r
E2 BIIME SEM0I AIBYHOR UE 5 (BEAT 257K BMOI HIE ¥, FIXIS0|M £7ix02 B2 oiaxio
A7 RiRtE RZ0|o2 1 ZHN0| B 22 sigstr 2 9J9| £7{0| JRiKNE L2 7|
=it S Qx|Eict,
mo|mo| QJZ(=17)0| 2%HE I Ko} LHPR 52E ¢2io0| 7Hoz XiR0|
= AZoll= Zis! 2R ic, SIAC7t A7HEOR FHR0| SlofE 1 7|
52 eiefsict

() S HIEe| Ct=EZ-PIPE COUPLING2 ALSHO|AL
SHE| ZHOAL FAte] AA ASol| ZIcHe| 2ER1 KiZ0| E20|H
Tlotel A Q=S =0 & RLICE MH Wwiz2 @8 BIX| &

SI= HHol| &gt

Lk
.
28 (@ geme
'YOUNGNAM METAL CO.,LTD.




www.yncoupling.com  YOUNGNAM METAL

= His2| 74

OPERATING PRINCIPLE AND INSTALLATION

&
S

GRIP RING PIPE COUPLINGZ &= GRIP RING PIPE COUPLINGZ ZItf GRIP RING PIPE COUPLINGZ 57t.
of LIEEEOZ FXME Aoz ol SEZUEYZ S 7HX| X7t 7tsotH A, OC|ALE 71 &7 AIS0| 7Fs3st
oF 2ol = ALZ0| 7kSotH FLANGE & GRIP RING LONG SIZE(GR- L)= ¥ O 17hA°] M| &tz AlZk2 21t 10201
B34, SOCKET, UNIONAIBSE S & 37K S20] S3= AZ0| 7ks3ict, 2=Ect,

9| 7IE Yo A2 ZS Sifet 7R
0|1 Xl o HESHES
o Ao|ct,

nE u> 0

(O]

z

|

[

PSS Oey :

(@]

(&)

w

o

o

GRIP RING PIPE COUPLING 28l ExTXE L{HO| AMR|SZ 7|UL i FF2|EQ| AXE OMIEQ| H|E LS 7| =
HRLHOZANZ0|7tsEE 0N Y, 270l s 1MTIS A0S EF E2 Z7i0)| A2 22 sto2 A Z7t
2t Of2Het 20| GRIPRINGO| 45°2 ZX| RISE S48 ot ofL|zt, SA| 2st ARRS ZASIA|I7|0 TRHoZ 10|
0] QOIM PIPEL| LIRS 2fHol 7411 ¢ WME|= ASZ 60%0[|4 ZAA7| He HIE S2| 022 HH S0|M2| Al
Sl SXINZICE = dsie ASICt 2 20| YSSictH Zictst A CIxiQl
= EYEL 5tel EFct it les &

X5t

YN7IEE 29




) = 700mm ] [E 500mm

]

[E 300mm

2016 = 5 SAl
22 ~ = x| A |

E.4

22 lolz

V1IN NVNONNOA Bz =ie

217 1,100"/m SHESAS




www.yncoupling.com  YOUNGNAM METAL

MO|Z 7724 Q| X|& H|DE
(PIPE OQUTSIDE DIAMETER COMPARISON)

UNIT : mm
Diometer | KSIJIS PPE PIPE PPE.  PIPE  PIP
15A  1/2° 217 213 213 212 222 215 | 220
20A 3/4" 272 @ 267 @ 269 @ 267 22.2 28.6 270 @ 26.0
25A 17 340 334 337 341 28.6 340 340 320
32A 1-1/4" 427 @ 422 | 4L24 4238 34.9 427 | 420 @ 420
4OA 1-1/2° 486 @ 483 | 483 @ 484 413 48.6 « 480 @ 480
50A 27 605 603 603 603 54.0 605 600 60.0
65A 2-1/2° 763 | 73.0 76.1 76.2 66.7 76.3 760  76.0
80A 37 89.1 889 889 899 98.0 79.4 89.1 89.0 @ 89.0
90A 3-1/ 101.6 101.6 101.6 101.6 921
100A 4" 1143 1143 1143 1143 118.0 1048 1143 1140 1140
125A 5% 1398 1413 | 139.7  159.4 144.0 130.2 140.0 = 140.0 2
150A 6" 1652 1683 1683 1651 167.0 170.0 155.6 165.0 = 165.0 §
200A 8" 2163 2191 2191 2191 2170 2220 206.4 2160 216.0 3
250A 10" 2674 2731 | 2730 2731 2670 @ 2740 257.2 267.0 2670 @ 306.0 I;IEJ
300A 12" 3185 3239 3239 3238 3180 3260 318.0 318.0 @ 360.0 g
350A 14" 3556 3556 355.6  355.6  369.0 378.0 370.0 4140
400A 16" 4064 4064 4064 406.4 4190  429.0 420.0 470.0
450A 18" | 457.2 | 457.2 4572 | 457.2  470.0 457.2 526.0
500A 20° 5080 5080 5080 5080 521.0 532.0 508.0 584.0

% TS| ZEMM T1s

KS : 2212 - Korean Industrial Standards

JIS : €234 - Japan Industrial Standards

ASTM : O|=ZXH= A RIS| - American Society for Testing Materials
ANSI : O|=25Z%3| - American National Standards Institute

ISO : =X|#EZ==3| - International Organization For Standardization
DIN : S&34 - Deutsches Institut fur Normung

BS : @23 &4 - British standards

GRP PIPE : f2|&-7Hi2 - Glass-Fiber Reinforcement Plastic
HUME PIPE : 223 2| EHlj 2t

YN7IEE 31




2AL- 3% ZE Z6HAl T ZIMIE 74HZ 12-3(R50874)
Tel : (055)345-3195~7 / Fax:(055)345-3198
E-MAIL : info@yncoupling.com / http//www.yncoupling.com

e« @ F A O nwopiz (53 S
YOUNGNAM METAL CO.,LTD.

KCRIS REUS ZA0[IS ZTEoJAoRIS slels/iSHads ATHEASA JleHMESLIIY



